Name of the Trade - Electrician 4™ Sem - NSQF - Module 1 - Electronic Practice

# Question OPTA OPT B OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1|Which resistor is used to measure light VDR NTC PTC LDR ThTRI D1 digdl hl HIUA @ oY Th g VDR NTC PTC LDR D 1
intensity? SRIYD DT IUUNT foaT ST 82
2|Which code indicates silicon semi conductor OA 79 BY 126 IN 4007 2N 3055 IT® HHl HSdeR SIS [hd HIS Bl OA 79 BY 126 IN 4007 2N 3055 B 1
diode? EUGERGIN
3|What is the input ripple frequency (F;,) of full F, =%F F, =Fi, F, =2 F, Fin =/3 Fin 99 AFEBRR B 51Yc Rud thebdl Fn =%F F, =Fi F, =2F, F, =2 F,, C 1
wave rectifier? 182
4|Which is a active component? Inductor Resistor Capacitor Transistor T Tishd Uch &I A1 57 TRY HAarel NEEEIN] JUTRA lToReR D 1
5|Which letter indicates the compound material A ‘B’ ‘c R’ DI T &R NP UGI HSMHIH Hehlzs A ‘B’ ‘c R’ D 1
cadmium sulphide? B! 3T BT 82
6|What is the name of the symbol? Two input OR gate | Two input AND gate [ Two input NOR gate| Two input NAND  [Uciich o1 ATH HIT 52 dISIYc ORTE | GIFIYC ANDTIC | &I$T9c NORTIE [QISAYc NAND e[| D 1
gate
Aoi
s YAB g
7|Which is a passive component? Diac Diode Transistor Capacitor T [pd Uch I AT 572 Secd SIS CIoReR JYTRA D 1
8|What is the name of the device symbol? SCR IGBT DIAC TRIAC TSarsy RiTd &1 715 R 82 TSR EIEEICIE S TRI% C 1
|
9|How many characters are in hexadecimal 6 8 12 16 SIS [Hd T YuTTeil H fdhd- aul 5?2 6 8 12 16 D 1
number system?
10{Which electronic circuit generates A.C signal Filter circuit Rectifier circuit Amplifier circuit Oscillator circuit  [1 IT Faide D Hide 91 37g4¢ & A.C fheer Hiche [GFhRI Hihe Uadsh Hiche GIe Hidbe D 1
without input? U I HRAT 82
11|Which instrument provides a visual Voltage stabilizer | Function generator Cathode ray Radio frequency |19 IT 3UDHRU HIU §T IT WIIVIT AT BT | dlecol TddIgor A S P HYS ISl i dl C 1
representation of measured or tested oscilloscope generator Th =g Ul Hdl %?
guantities?
12|What is the name of amplifier? Common emitter Class B push pull | Common collector | Class AB push pull [TEITBTRR &1 AMH R 5?2 B THR FA & g2 g DA DHalde A Tl g=1 g B 1
amplifier amplifier amplifier amplifier QTCIT'ﬂ'W QTCI?ﬂ'W
]
13|What is the formula to calculate the F__ 1 F__1 1 1 U I Tlcbe H 3T 3M1gixl Pl U] P 1 F__1 1 1 C 1
resonance frequency in an oscillator circuit? " 2mlc " J2ncC " 2z4lc " Lc2n B BT P FTZ? " 2zc " J2ncC " 2z4lc " LcV2n
14|What is the minimum voltage required in the 02V -03V 04V-05V 0.6V-07V 0.8V-0.9V [N VR & HATe P [e1T 9 02V-03V 0.4V -05V 0.6V-07V 0.8V-09V C 1
base emitter junction to conduct a silicon TR SaRM T FAqH diecs &1 ATa=gHhdl
transistor? EP:IT%?
15(What is the minimum and maximum value of | 23750Q - 26250Q [24700Q - 27300Q 25650Q - 28350Q | 22400Q - 33600Q [hHRT: IR T S, AT, sTHI, AR IR AH | 23750Q - 26250Q [24700Q - 27300Q | 25650Q - 28350Q | 22400Q - 33600Q | C 2
resistor with four colour bands, red, violet, & 1Y UfeRIY &7 AdH 3R i 0
orange and gold respectively? ERZIT%?




16]What is the reason for barrier voltage is more [Lower atomic number| Resistance is very | Doping percentage | Valance electrons [[Iiele[= I3l H AT dlec ol Bl DRI PHRAY TS | WRIYTGIFAE | SHUT VARG | oo SaggH $Had
in silicon material? low is more are two only GTIT%? ?«Pf%
17|What is the reason for widened barrier in a Minority carriers in Electron in N Holes in P material |Electrons and holes [RaY RS SMIS H TlS] dTYUT D1 HRUT R al %.IIJ-I'I‘,H-II H T ACRIA 9 Ul Ol ¥ gld ENESGl GﬂT%ﬂﬁ
reverse biased diode? two materials are material is drifted to |attracted to negative are attracted %’? I D digh Eaaﬁﬂa??ﬁ@f ! APRIHD cfHa &
neutralised positive terminal terminal towards supply REARIEEIE] uifoifed efifqa & %ﬁ‘lﬂ BT 3R 3Teh i Eﬂﬁ%
terminals ERIACIGIE fama
18|What is the output voltage in the full wave No output Rated output Half the rated output| Double the rated |%d dd JGCHRR Flhe H HT3ICYC dlcel d el JCs Hd %CE JdIGd P | TS MMITYE DI
rectifier circuit? output FTZ? S{TYUT QAT DY
DZ §
19|Which filter circuit is capable of removing LC filter RC filter Capacitor input filter | Series inductor filter BT T Ttheex Hidhe JFcHRR Fidhe H LC theeR IR Theex  [TUTRA 39Y¢C [heeR| 90T IR [heex
voltage spikes in the rectifier circuit? el R IEEN] Call s a7 gem %’?
20|Which is the advanced version of power FET uJT SCR IGBT $1Rd H 3M3cyc R0 H JuFNT fohd S ardt FET uJT TIYISR RETICIG]
electronic component used in the output grax m Yeh BT IAd YR B
stage in drives? HT%?
21[How the decimal number can be converted Divide decimal by 4 | Multiplying decimal | Dividing decimal by | Multiplying decimal [GRHAd HBAT Bl ARl AR H 8 I&al ol | GRMHAI dl 4 ¥ SREAI B4 GRHEAI DI 2 Y GRHEAI DI 2 Y
into binary number? by 4 2 2 Thl 872 YRS T[0T AT fqurfora O AT
22|What is the purpose of using binary coded Storing the data Control the binary | Interface to binary | Segregating the [TSIolcd Hiche H SIR] HIoS aRHAD SCISTYC UTeld | IRRI APl | SRIRRCASD] | Y HIUGS| DI
decimal (BCD) system in digital circuits? inputs system system input parameters TUNTEH T SUTART B Bl GQQCI | HAT [BRIEGKER E?TW ST HIAT
2
23|Which logic gate refers the truth table? OR gate NOT gate AND gate NOR gate %W dTicTp] T dloleh TIC &l JaiHd bl ORTE NOT TI¢ AND T NOR Tic
2
A B Y =AB
0 0 0
1 0 0
0 1 0
1 1 1 H
i
24|Which quantity can be measured by CRO? Frequency Inductance Resistance Power factor  [HISR3M RT [ AT D1 ATUT Sl bl 572 3Mqi TR PINND] RMicd T[0TIh
25|Which is the main application of SCR? Amplifier Oscillators Multi vibrators Speed control of [SCR &1 & 3IUANT &I AT 5?2 PeREd [FARED Hocl AIgsicy  [HICR] 1 T I
motors
26|What is the function of R, variable resistor? | Controls the current Protects from Protects the RFI | Controls the pulse [TR UIcRIY R, &1 BT T 5?2 R2 H 4RI &1 3RS AT | 3RS A RFI [T Bl [TR B
in R, overload to TRIAC filter from rate for triggering fdfa sar g DI & HAT Waﬁ?&n %%utwﬂa?ﬁ
overloading the TRIAC CG | BRIERERGIN]
R, RFIFILTER
fid {toap}
N
" @/6 JI
C1T [ S §
27|What is the purpose of connecting L, through | Provides DC supply | Provides positive | Provides negative | Provides transistor [SlToIRex s H C, D HIH I L, Bl Wle b1 | ST TYd UaH  [FHRIHD BIS 8 [TDRIHD BlS db | CloiReR ST
C, to the transistor base? feed back feedback biasing voltage G%Qq =T %? hdl %’ QT hdl %’ U ddl % dlees UeH FHal %

|
EL282813




28|What is the criteria to decide a material as Atomic bonding Existence of  [Atomic weight of the | Atomic number of [HSdcR, HHl HSIcY SIMIYAR P U H | A DI AN | WRAHIAY [ FHUT & RAY DT [ AU & TRATY D
conductor, semi conductor and insulator? structure of atom | valance electrons in | atom of the material | the atom of the  |U& TN a8 &R & o ATUCS T ®? Y IR ENCHEEIC] 3T UH YR UHTT] J=AT
atom material
29|Which doping material is used to make P-type Boron Arsenic Antimony Phosphorous  |“U1-TSU T8I hedex §-11H o o4 [pd IRM 3RS G| hIRBRY
semi conductor? Sift WWWWW%’?
30[|Which type of biasing is required to a NPN Base ground, emitter | Base negative, Base positive, Base positive,  [Jd¥H P [elT NPN TIloleR & I {9 bR | 9 A, THeR | o H‘Iicq,\sﬁi_?c% 99 Uiivlicd, THCR | &Y Tiivlicd, TR
transistor for amplification? and collector positive | emitter positive and [emitter negative and | emitter negative FI AR BT e 81t 872 3R TR uifsifea 3R
collector negative collector positive and collector uiftvifed FHaaeR AHed
negative
31|What is the type of function in the transistor Switching Oscillation Modulation Amplification loReR Jlhe H ThaRH I YhR T 5?2 AT ARG ATSYRH EERE|
circuit?
+ %) +
32|Why negative feedback is required in To reduce the To increase the To increase the Toincrease the  [THIIHRR Hidhe H THRIAD DISSD DI |IdPId P FA DA | TIUT HRD Bl dlecs | 3T3TYC YR] ATy
amplifier circuits? distortion amplification factor | output voltage gain | output current gain |3{TaRgahdl T g2 % fom aaﬁf ¥ fom : & fom e q@ HH & fog
33|What is the purpose of DIAC in power control As rectifier For triggering As an oscillator For amplification [UTaR @¢ld Hidhe H DIAC BT I R 5? VPR G TUH | TR IXA H [ | TP SARIAR & TdeH & ferg
circuits? LSk
34|Which type of control device is used in FET uJT DIAC TRIAC 3AdCl-P Ul (AT A0 Widhe | [hd FET uJT DIAC TRIAC
electronic fan regulator control circuits? %W & 0T IUHRT BT SUTNT fhaT ST
?
35|Which quadrant operation of SCR delivers First quadrant Third quadrant Fourth quadrant Second quadrant [SCR T ®I- | IR YaTer Rad SR EENERCIEY TARIRT TgUiT EIRERYIEY FERNIERUIR]
heavy current in reverse biasing? o Y Fe qar g2
36|Which logic gate refers the truth table? AND NOT NOR NAND g?:r dTicieh] Tobd ATioTh TIE &l TGIHd Bl AND NOT NOR NAND
2
A B A+B
0 (4] 1
0 1 [+]
1 0 4]
1 1 [+]
37|What is the use of time-base control switch or | Select sweep speed | Select input voltage | Select input signal | Select intensity of [HTSR3AT H TIRH-S gld Rkad AT 14 BT | WY WIS BT 90 [$TYC dlecol Xol DI | TTYC I dlecsl | STH DI dfad] T
knob in the CRO? range voltage the beam JUNT T 82 P T B BTG B T B
38|Why a snubber circuit is used in the TRIAC To avoid false To increase the life | To increase the To maintain the  [CT® HICR [IAV Hide HUH AR HIhe | TAd IR U T | AP D] Sflad AR Wﬂ%{lﬁ HIeR &l Td &l
motor control circuit? triggering of TRIAC motor torque motor speed WS‘E@"T@WW%? %ﬁﬂ aaﬁasﬁ«m EIGﬁ? @RWW?
constant T%’I'Q
39|What is the output DC voltage in half wave 24 Volt 12 Volt 9.6 Volt 10.8 Volt BT dd IGCHRR H 313cyc SiAl dices 24 dlee 12 Al 9.6 dlcc 10.8 dlce
rectifier, if the input AC voltage is 24 volt? 1 g, afe $7Ye T deed 24 Jiee 82
40[Why most of semi conductor devices are High barrier voltage | High resistance High thermal High current STHFTH $I a1 H RIefbH GRT SUDIRT I 91T dlecol SAYRIYIG | 3= AU™ A1 d] | = URT S S i
made by silicon compared to germanium? range conductivity carrying capacity 3¢ T IUBRUN I} §TT STl &2 &HdT
41|What is the output voltage if the centre tap of Zero voltage Full rated output Half of the rated | One fourth of rated [ITg CRIMIHR T U <4 JU AT T dlecol qUICS Id | ¥es IH9id o1 31T | Y¢S M7d b1 Uh
transformer is open circuited in a full wave output output faemR gfdhe o T g3l % GIEE) 3cgc a*fur%
rectifier circuit? leeol T %‘?
42|Which oscillator provides high accurate stable | Hartley oscillator Colpitts oscillator Quartz crystal R.C phase shift |[®IF I GlA® 3 Acld AR Mg UaH glcd 3RccR | Ppladed 3MMAccR | DIcol [shed 3R Bl 1R
frequency? oscillator oscillator W‘cﬂ%’? 31 e 3R




43|What is the characteristic property of base Lightly doped and | Heavily doped and | Lightly doped and | Heavily doped and [Ueh ClToieR H 3{TUR T b1 [ARIY IO T | Boob J SiU 1baT | HRT 3R §gd Uddl | Beb 4 SMU 1hAT | HRI 3R Igd 91
material in a transistor? very thin very thin very larger very larger ? gl eﬁvaga qddr gl 3R ERGES
44|What is the type of amplifier? Push Pull Amplifier Common Base Emitter Follower Common Emitter |[THIIhRR &1 YhR T 57 TR Jf THIIh R CaERED TR BIAlSR B THSR
Amplifier Amplifier Amplifier QTCIT*ﬁW
i
45|Which resistor determines the voltage gain in R, R, R, Re DI I TIRTY T AHI THER THATDRR R, R, R. Re
a common emitter amplifier? ﬁaﬁéﬁrwuaﬁﬁufﬁaw%?
i
46|Which multi vibrator produces a repetitive Astable multi vibrator | Bistable multi One shot multi Monostable multi  [®1- I Hecl dIgsic] U IRUlcicd Ued dd 3 ad Heel g9 dd Heel T QM1C Teel AFRETd Heel
pulse wave form output? vibrator vibrator vibrator B 3f Jcgc ST HIdl %? Eﬂ%ﬁﬂ Eﬂ%ﬁﬁ Tﬂ%ﬁa
47|Why a feedback network is used in the To cancel noise To phase shiftthe | To phase shiftthe | To cancel second [GIci® H Udh higdd Acdd BT SUAN Rl | AR [AEUUI HIE | 60 fSUl I e RIAA D180 ° ¥ | G gMIAD
oscillator? distortion signal by 60° signal by 180° | harmonic distortion |f&aT ST 872 P & forg e w1 & forg R s & |fowun ol 3 &
ferg & fog
L I
Iz 1 L
48|What is the main application of a Field Effect Voltage control Current control Positive feedback Low input IS SWhac clivikex (FET) &1 JB&H AN | dicesl =AUl YRT A a8y | AHRIAD BIgdd | HH F1gc UidardT
Transistor (FET)? device device device impedance device FTZ? SUHRT]
49|What is the main function of Uni Junction Relaxation oscillator Broadcast Loud speaker Microphone input ?’TW CIoRER (UJT) BT I b RT | RAFHRM HRIctex | UHRUT CHHICR RIRERSIER HIShIHIH 51YC
Transistor (UJT)? transmitter amplifier device ? QTCI?ﬂCFFCR %Tﬂ%ﬂ
50|How the gate terminal of N channel JFET Gates are reverse | Gates are forward | Gates are forward | Gates are reverse [N =@ JFET &17[c CHHAd ¥ HIMAd &2 | Tcy UY 3HTd & | T ST AU & | 7IC 1 & A 3 | TIcy Y & 1
biased? biased biased biased with drain | biased with source FIRERI % PEEIRERI %‘
51|What is the total turn-on time (t,,,) while ton=t, - 1 ton=t - tg ton=tq + 1, ton= b+ tgt+ to SIToRER V2 H V1 H TR B 9Hd $d ton=t, - L ton=t - tg ton=tg + 1, ton= t+ tgt L
transistor makes a transition from V, to V,? -3 TRH (t,,) G2
ose
s
N A
y } s '
SR S i
H
52|Which device is made up of using the Inductor Resistor Capacitor Transistor Tdg WU, [APRI, isgw 3R 0y U1g URPp FIcNDED YR lToReR
methods of point contact, grown, diffusion SR b dRIb] BT CRGACR
and alloy junctions? B‘Wﬁﬁ'ﬂlﬁmw%’?
53|Why the collector region is physically made It has to dissipate | Output taken from Base collector Collector region  |Ud ISR H dheiacy & Hildd ¥4 Y 3fUPp THI BT | oA d | dH holde &7 | DadeR &F gHR
larger than emitter region in a transistor? more heat collector terminal region is reverse |always operate with %@WG@[WW%? WWEEHT% foran man fefa WW% I dieesl & IqTY

biased

high voltage

BT PIAT S




54|What is the function of a transistor if emitter | Acts as an amplifier | Acts as an oscillator | Acts as an open Acts as a closed [T® CIoIReX BT B R 5, g THR J o | TH THATBRR & [T qladd $ w4 H | T Jad e &_ [T 9 R9d & ¥4
to base and collector to base are forward circuit switch 3R HoIdeR T 99 dF 3 A 82 U H BT Bl § FIXAIg |FUAGHERAIE| HHdadg
biased?
55|What is the main advantage of a class A Minimum distortion | Maximum current | Maximum voltage | Minimum signal to [T T THICITHERR BT HBA ATH T 672 GAqH Tdepld SMYHIH YRT MY | 3B IH dlceol | IR FUTA 81 D
amplifier? gain gain noise ratio losses Yy ﬁ*ﬂ! Wﬁl’ﬂﬁ
56|Which electronic circuit produces signal Detector Amplifier Oscillator Modulator DI W 3D Hihe 1§ $TYC & 19 fecar THRITBRR MANED AISYTic
waves or pulses without an input? AT T TR BT I Bl 82
57|Which circuit is essential to maintain Rectifier with filter | Voltage multiplier | Negative feed back | Positive feed back [glcie Hiche H GlaH! AT a7l Pl ST 381 flhea & 1Y dlec o U THRIHD Blsdd | HRIHD bleaD
oscillations or waves in an oscillator circuit? %ﬁﬂqaﬁ:{ 1 gfdhe W%’?
58|What is the main application of uni junction Rectification Amplification Regulator circuits | Triggering circuits [gAISIGRI ClioRex b1 HI VAN T 62 [FECayl EERE] A[CieR Hibe ¢TR Flhe
transistor?
59|Which device has very high input impedance, NPN transistor PNP transistor  |Field effect transistor| ~ Uni junction [h T IUBRUT H dgd 3H[eih qicraTedT, TAUIEA ¢lioRex | TITUl gTioieR WIS FWac AR IR
low noise output, good linearity and low inter transistor FH IR ffa, st Radwar Z%EW 3R giforeR
electrode capacity? TS & 87
60|What is the difference in current control of Insulating layer Using N material Using P material Using N material  [JFETs I T MOSFET & YRT TG00 SRA D SO | ST IRl o Soi | T 931 o Sol | Ul JH01 @S9l
MOSFET compared to JFETs? instead of junction |instead of P material |instead of N material| gate instead of P |H &7 3{dR &7 gac WRd W& | U S &1 SuanT | T 9 e &1
material JUINT AT HA JUIT AT
61|What is the type of amplifier circuit? Common base Common emitter | Class B push pull | Common collector [THIIBRR Hicve bl YHR KT 572 B oY Uadd HIHT THR FAT o g=1 g B HadeR
amplifier amplifier amplifier amplifier THAHRR
62|What is the peak voltage of 220v rms AC 310.02V 31117V 312.25V 315.20V 220v rms AC dlecel &1 Uldh diccsl T g2 310.02V 31117V 312.25V 315.20V
voltage?
63|How the input impedance of CRO can be By adding resistance By adding By increasing By increasing  |TI3R3M & AYC YAl Bl Y JHT S TR U H TRAlbcd  [9HT /S chﬁqa dlce / AT
increased? to CRO probe resistance to trigger time/base volts/cm attenuator [Tl 82 ufeRIY th Eﬁ%ﬂ:fﬂ Gﬁ@m g Rufa Qé:QQEQ &
level circuit attenuator switch switch position delh f@ﬂ?—rﬁm
position
64|What is the frequency of the displayed signal 1.0 KHz 10.0 KHz 100.0 KHz 1000.0 KHz 0.2 ATgeh] Yobs & CIgH &9 Il & 1Y 5 1.0 KHz 10.0 KHz 100.0 KHz 1000.0 KHz
on CRO screen covered by 5 division with a SatorA WWW’TQ CRO T R
time base setting of 0.2 micro seconds? PHNRANPLECH \’rl'lfjﬁ-l FTR?
65|What defect will occur in the radio, if the Improper tuning No response Humming sound Works with low — [XTS31 H T WRT6l ST, SR TR 61 SR &I Bl UldihdT Aol | AN A | HH 3TaN & A1
pulsations are not removed from the input of volume RfGCHRR & g19c @ﬂﬁmm%? BHTH BT §
the rectifier?
66|How does the depletion region behave? As resistor As insulator As conductor As semi conductor |[RacichRUI &7 hY HdGR DRl 672 UIRIYP HFUH | Dol & TUH | b b 2T H | Y Iih & =J H
67|What is the power gain of CE amplifier with a 15 166 0.66 6600 66 & dlcco dIH 3R lToex & 100 Beta 15 166 0.66 6600
voltage gain of 66 and B (Beta) of the (@ten) & I CE e
transistor is 1007? ER:IT%?
68|What is the effect, if SCR is latched into SCR gets cut off Current through Output voltage will | Gate looses control [T UHd 3, 3fY SCR ?ﬁT I A od [hdl | TSR &he 3T | TIISR 3% B dleesl HH |71 AT R FgA0
conduction and gate current is removed in SCR OFF be reduced over conduction  [SITdl % AR DCHIC D Bl fear Sran %? Epf\_rl'IT-lT % HIETH T YRT |1 RG]
DC?
69|What is the effect of pinch-off voltage in No depletion region Drain current Reverse bias Width of channel [JFET H U4 3T diccsl &l o1 UHTT 57 DR NI &F | GTIRC ATl | KA IFF dlecol | I DI dlgTs B
JFET? exists becomes zero voltage becomes | has maximum value Iﬁﬁf.‘{ T e SIGI A QAT HfYHaH I §

zero




Name of the Trade - Electrician 4" Sem - NSQF - Module 2 - Control Panel Wiring

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1{Which supply indicates by the colour of conductor | Supply DC 3 wire Single phase AC | Supply AC system 3 | Apparatus AC X8, & 3fR &tdh TR 8 ae 1hU U hSder o X | 3 TR Sl 3MYId | Thdl Bl T8l | 3 Thol THI MY [ 3ol THI RikeH | A 1
exihibited on Red, Blue and Black? system system phase system 3 phase  |¥ &I 4t 3MYf i Bt 82 P I]| PG| PII]| JUDHRT
2|Which cable ties are used to bunch the wires? Silk ties P.V.C ties Nylon ties Cotton ties ARl Dl BT HRA o 1T b1 I had g8l bl IRMH §Y A 9y EICRIEED] gl 5y C 1
ERCIUACRIRSIGIN .
3|Which device is avoided in the panel board Sensors Indicating lamp Isolating switch Push button switch [U9d dTs 3RIdql H [hd IUDRUN I < SITdl 5?2 AW gobd GIUh ENIUGASE] TR dc Rad A 1
assembly?
4|What is the name of the device marked as ‘X’? Stop button Start button Main contact Auxiliary contact |'X' gRI Tdigd Iedrzd ol A1H HIT g2 XY §cd T dcd T U Teldd I D 1
5|What is the name of the wiring accessory used in DIN rails G channel Grommets Race ways Held U= dRARI H ariIT TRIRIRT bl &1 ATH SH A SIERE Y I a9 A 1
control panel wiring? %?
6|What is the name of the device marked as ‘X’ in Contactor No volt coil Stop button Over load relay trip [URUY H "X’ 3ifdrd TSdI3d P1 ATH R 52 Iaqroldh 1 dlee DIgd Y dcd R As Rafeu| D 1
the circuit?
x e =
wh o =]
3 U8 8
g
d
7|What is the name of the accessory used in control Wire ferrules Wire sleeves Nylon cable ties | Cable binding strap [&cld Ud ar—IRT H Ygdd JTHIUT 1 o1 1 87?2 IR bh=d dR 3RdF A Hed 9Y | PIA SYA PI US| D 1
panel wiring?
§
8|What is the name of the accessory used in control Lugs Thimble Grommet Terminal connector [hcld U-d AR H Ygad 0T bl o1 ATH §2 ] [RISE e RR1 g3 C 1

panel wiring?

sk




9|Which device protects from overload and short Isolating switch Time delay relay Thermal overload Miniature circuit [Udl 9l H &I 41 fsdgd 3fldials 3R T AT RAT | THIGRI RS | YA MYHR R | TART=R Tibe
circuit in a panel board? relay breaker gihe I Famar %’? FHT
10|Which switch with an actuator is operated by the Limit switch Toggle switch Isolating switch Push button switch & 1Y D FT RIT HRIM DI A AT NECASE] T Ra TSI Rag | Y= e [
motion of a machine or part of an object? a@% T GRT Tanferd g1 872
11|Which switch is operated at OFF load condition? Limit switch Isolating switch Two way switch Push button switch 3Tt dls RUTd | &1 A1 Iad IdTierd 5? NEEASE] R FRIRIRIESE] FERSE] ERECEESE]
12|What is the reason for providing two separate Panel board is made |Control the stray field | Reduce the voltage Ensure one Ud dis H Gl 3{eT-37eT i UG DA bl U7 SIS 4Td P _| UTd] H ¥ &F $I | UAd dfg H dlecal | 3 [dhadl &
Earthing in panel board? in metal box in the panel drop in panel board | earthing in case of WW%’? aa@fﬁww% [BRIEGEY Wﬁmﬁ Wﬁ@ &rﬁf’T
other failure SRIECED
13|Which circuit, the limit switches are used? Lift circuits Street lighting Motor control circuits | Domestic power [{Hd Hicoc H eliHe Rad T IUART {HAT SIdl 5?2 feTue Tidhe TSh YbR | AR [HTAU Flbe | TR [Solell Hidbe
circuits
14{How the control circuit voltage and power in a As per rated current |As per supply voltage| As per no volt coil | As per the type of [T JTSIh H AUl Hicbe dlecol 3R fgolcll 1 | YRTD IR | MY dlcesl b | Al dlec Pbigad | 3TY[d b UDR D
contactor are to be selected? rating supply T B famar e 82 SR MUK SIIUR SR
15|What is the criteria to select the contactor? Type of supply Type of load Supply voltage and | Place of use the [TUTSI® &1 TTF B & [T HIGS R 5?2 YA PIUPR | IS gU IS BI  | MY dleeol R | TSP BT TN
connected load contactor UHPR KIS P BT RIM
16|Which accessory is used to mount MCB,OLR in DIN Rail G. channel Grommets PVC channel  [Ud &1 IUIRT [T 1 Ud SIS H THHTS], SEEG SEEG] YT CIEIGIERE]
the panel board without using screws? AR BT ATIC H & g oo areht &1
RS A . _ _
17|Which type of device protects motors from over Rectifier Limit switch Thermal relay Electro mechanical [T YBHR BT IUPHRUI HICH HI TP Ud ais H [GUDRI NIECASE] YHd Rd ENEEE ARG
heating and over loading in a panel board? relay BT 3R 3R AfET @TEEH?IT%? o
18|What is the use of ‘G’ channels in control panel? For fixing relays | For fixing contactors |For fixing instruments| For fixing terminal [HI=01 ®& ' G -l b1 SUANT 1 R &1 3lh BRA | JUSIDI Dbl 3lb | SUBRVIN Dbl dlb | RR JISD | DI Bl
connectors ? éﬂ%«m mﬁ%ﬁw %ﬁﬂ'{ Blh B ﬁﬂ
19|What is the function of limit switch in control panel | Controls machine Controls machine Controls machine | Controls distance [&cld Ud AR H eliHe Ra< ol o’ B 57?2 3Ierp TH I AR Bl 3fIaR TR B AR | Tohdi W ORI Bl
wiring? from over heat from over speed from over loading movement of any ENIEAEDIER] e ¥ frifa AifeT § fAafd @‘T%aﬁﬁﬂﬁﬁ
machine HRedl 3 HRAT T EGIE CaGI
20|Which is the standard duty cycle code of the AC, AC, AC, AC, [SPIGREED Gﬁ? QW UR DI E B 3R AC, AC, AC, AC,
contactor for starting and stopping the AC resistive AP & T Fudberdl BT HHS BHacd b BIS
and inductive load? CACK:Il %?
21|Which is the correct sequence operation of Main—>Star—Delta—Ti Star— Main—Timer—Delta—>| Star—>Timer—  [¥dNdd ¥R Secl XICR & AT P [T TF>ER>TT—> TR— TI>TRM S| RSB
contactors for operating automatic star delta mer Main—Timer—sDelta Star Main—Delta R:piccakcs Hﬁﬁ S{IhH DT TATeTH CACkl %’? TR ﬁ?—EIBTR—)@.RT —>ER Tl
strarter?
22|Why control panels are provided with control To maintain rated To operate the To maintain rated | To supply reduced |/g=01 SRIHTER & AT AT UC HTUGH [HU | FS PRA D [T | FEMAD Wihe | Y¢S T 3MYI  [UTAR Hiove DI HH
transformer? voltage to load auxiliary circuits main supply voltage | voltage to power ST %’) YCS dlecol gAY | T PR & | dleeo AU @ | dleeo] di &frllﬁ
circuit @ & forg ferg & fog PR & forg
23|What happens, if time delay relay of a auto star Starts and stop Runs normally Runs in star only Runs in delta only [&18Id1 8, 3R T 3Mc] ¥R Sccl WieX P [+ | Y= gidl 6 3R JUEIY | TRABI IAdi 6 | Sccl | ol dadl &
delta starter still in closed condition after starting? Eﬁ%ﬁ]’c{ mﬂm%ﬁﬁﬁa'c{smﬁﬁsﬁm%? W\‘:ﬂ?ﬂ% ?K*I?IT%
24|What is the use of PVC channel in a control panel Mounting MCB Mounting relays Path way for Mounting double [T hcld UAd AR H UIGRIT I-dl b1 SUTANT MCB T el & TSIl & dRI 3R | S 5P R}
wiring? electrical wiring and deck terminal Bl %’? ﬂ?&ﬂ% ﬁﬂ R TASTH T
protection contactor
25|What is the purpose of thermal over load relay in Switching ON/OFF | Protect the circuit Control the circuit | Protect the motor [[HT=01 U¢ H YHT 3R TS Rl Dl I5-T 1 57 |Hidbe ol A/ ¢ | @I GW Y Hibe | FHI DI ol & HICY Pl 3R
control panel? the circuit from earth fault based on time delay | from over heating PRAT P IET B SIUR WX W BT 3R Eﬁ%‘ﬁ
and loading P! fafa &% J §2Y
26|Why sequential control of motors is required in an | To share more loads | To reduce power To minimise the To increase the |3 SIITART H HICH & 3ITHD [IAVI &I | 3Hidfeh YR I |Taoicll Dl JUd B | TRATH AR D1 | SHTORRM Bl
industrial application? consumption operating cost accuracy of &namwaﬁ%? ?ﬂﬁ%ﬁm Wao_{%f%ﬁﬂ mrae—eﬁas%q ETr.!'Ief
operation 1Y
27|Which material is used to make open frame Silver Brass Copper Bronze T Il &1 ST ot hH Tﬁ‘éﬂﬁw EIG glda GIEll Cal]
bimetallic adjustable thermostat contacts? AT YRS TUSIP! &l &1 & f?ﬂ! o

ST 82




28|What is the purpose of DIN-rail used in control It provides a path Install the high Mounting the double Mounting the Held Ud dIART H DIN- YA I ST R 8? | Ig [dgdd dRI b | 3=d e ard SIA D RR_ [T & ToA1 (A0

panel wiring? way for electrical powered circuit deck terminal control accessories foTQ T T Hﬁv_c'w?ﬁ oI I o It @ A
wiring accessories connectors without screws UaTH Hdl %’ TUT TR A

29|Which device controls the operations in sequential Timer Relays Contactor Control transformer (&1 I TSATSY HIHD HAAT FUMIerdl H TR Ra TgIoleh EEEEKEREIEN
control systems? Tara &1 FRifad &Rl 82

30|Which DC load is represented by the DC, standard | Resistive loads  [Starting and stopping |Starting and stopping Starting and ®F 91 Sl dle, Y9dbobdiel & DC, AH® AR A8 Bl T HicR Dl YU AR DI ST 3R SihT &b
duty cycle of contactors? except motor loads of shunt motor of series motor stopping with  |Fded Teh gRT ST 74T &2 BISIR URIYS | LTI 3R BT | I 3R FHAT | 1Y TR HRAT

inching and braking HR 3R AT

31|What is the purpose of control transformer used in | To maintain constant | To supply the power |To control the supply |  To protect the  [dgcld UHd AT H IUANT T ST ATl A0 gd A _ | Jerad diove D] | FASID D 3T REENEEIED]

control panel wiring? terminal voltage to the auxiliary voltage to the control elements  |TIIWHTHR BT B%Qﬂ Eall %? Fleeol N Ta | faoret & &ﬂ'l{% i @) i Ao W
circuits contactor from over voltage & ﬁfl’Q AP 1%111 AP ﬁ«rq EEIEE:] ﬁ«rq
fault

32|How the contacts in a contactor can be engaged | By manual operation | By mechanical By operating By using bimetallic [l HATSId & AUD HIH B & [01¢ HY AR | T HTRRA | AP e gRIT | TRIT B Jea- & | TR DI g&ad &

for working? settings electromagnet to | strip to change the ﬁYQGITHﬁ%? GRT WWW ﬁﬂlﬁiﬂmq@
change the position position F1 AT PR | DT SUANT IRb

33|Which device prevents flare out of stripped and Sleeves Wire ferrules Lugs and thimbles Cable binding [P U1 [SdTgd UTd dls H Uiedl 3R T4 §U EIESIE] TR B=d T R A | Had g4 aled
stranded cables in the panel board? straps and button [ ddl T IS 3 I Al %’? 3R g

34|How to protect the cable from insects and rats into By using sleeve By using Grommets By using cable By providing nylon [U-c H BISl 3R JgI H hadl Pl & Y HR? 3 D1 YN | hIHCH DI STANT | Had aY= Uicdl | T had d9Y
the panel? binding straps cable ties D PRD BT IGANT R e

35|What essential feature to be considered while Proper type of Inside area and Suitable method of |Outside dimensions [[FAAUI UC & W33 Dl [Sullg HRd JHI [ A TPR BT | X P & R | Aaler AR Had | Plaic axdrsl &
designing a layout of control panel? protection and number of indicating | labelling and cable | and swing area of |3TdRJdH faRiyar &R o= foran s %? gRE&m 3R A1 RIEE] ﬁaaﬁ E‘ﬁﬁl’ﬂ il SUugad Wﬂaﬁiﬁ@é

measuring system lights in front panel harnessing cabinet door P IVIKG| IR Bl R Td fafdr IR & &=
' B B I '

36/Why power and control wirings run in separate To reduce heat | To reduce the radio To increase the Toincrease the  [UTAY 3R &gldl AISRA ST-AHT I aST H A1 | TH I HH PR | ST 5T Pl | SYRM TIRIY | YR T &HAT DI

race ways? interference insulation resistance current carrying  [ddid %’? *® ﬁﬂ HFAD B ﬁ‘l’q EHER ﬁﬂ'{ EHER 1%111
capacity

37|Why the motor is not changing the direction, if No volt coil is not Fault in forward Due to interlock in | No voltage exist in [HICR [aRT Il Tol 9 Yol &, TR RIY G FH | AT PISA | BRAS PlcdeR H | RAY PIcaR H | NI PlckeR H
reverse push button is pressed in forward and energized contactor reverse contactor reverse contactor | BRAS 3R WWW SR TR T SHiold T8l § Tl AP & BRI | Dl Eﬁ@ﬂ Tﬁﬁjﬁ
reverse control star delta starter? CEIRIIR %? Tl %




Name of the Trade - Electrician 4" Sem - NSQF - Module 3 - AC/ DC Motor Drives

# Question OPTA OPT B OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1{Which control system consumes very low Field control Drives control Voltage control Armature control Q@T 3R Sl AlcY ¥ Tid N30 & Told Hid 9l REIEREL EECAREEN CIGSSARREL] STHIR AT B 1
power for motion control in AC and DC motors? IERELR I dgd hH fooTett ot @ud Hedt %’?
2|Which drive is classified according to mode of Group drive Manual drive Individual drive Continuous duty [3TIRRM & AIS & IR [y gIsd Pl diihd g Slsd ESENESIEE] HIRId g15d | FRaR YT glzd D 1
operation? drive fearm g2
3|What is the name of the characteristic curve in Speed Vs torque Torque Vs field | Speed Vs armature | Field current Vs |[D.C S13d H [d=INdT dsh T TH HIT 5?2 T §9TH Jargul | JATg0 SIH &F | T §9H HER | Bics ddHH 9HTH A 1
D.C drive? characteristic current characteristic | current characteristic| armature current fa=ar TR far=rera TR far=rere TR gdfaH
characteristic ICEILGII
R e R o
3
4|What is the name of the component marked as Rectifier D.C bus Inverter A.C motor Tl g13d & il 3RY H 'X' & ®U H [Higd Ay RI EEIES gac A.C Al B 1
‘X" in the block diagram of AC drive? e bl T 1 82
Ot HA®
C.
5|What is electric drive? A device used as A device converts An electro A machine converts |gdldc® gsd R 5?2 SYCY & [oTT J15H | TH JUDHRUIA.C A &l M T RN TlAD C 1
prime mover for A.Cto D.C supply | mechanical device | mechanical energy E&?%Wﬁ PID.C &W{%ﬁ W*ﬁﬂ@ $ol Tﬁﬁ?{{[ﬂﬁ
generator for controlling motor into electrical IUanT fHar S qﬁaﬁam% ﬁagamﬁm qﬁaﬁﬁaﬂ?ﬂ%
drdl 3UHR0T YD
6|What is the full form of B.O.P in D.C drive? Bridge Operation Basic Operational Basic Operation Bridge Operator |D.C $T3d H B.O.P &1 JUI U I §? TSl STIRRA Uq | dih TRRAA | Y TRRE | TS TR U B 1
Panel Panel Programme Programme DE|
7|Which is the classification of drive according to | Short time duty drive | Intermittent duty Automatic control Variable position [STIATHR] 3R CIWUcH & IR I13d DI QIC CIRH Sl | TR SgCl 91ed | XadTiard -gAu] qi(dg“l'-i‘lbl =ufa D 2
dynamics and transients? drive drive control drive  |TeRUT B AT 82 SIEG] S{EL| feior g8
8|What is the function of power controller in drive |It sounds an alarm in It detects the It reduce motor It maintain the  [S15d e H UIAR SheloR DI H B 5?2 RSN g AR DI g _&IUI e | Jg A dlecd D) B 2
circuits? no load conditions overloading current during torque at low U A soidT % F IRA AR e | RfaH W‘{Ufa'ﬁ
condition of motor | transient operation | voltage conditions WDT‘ITE"TIHT% ﬁfb_ﬁrm% Wm%
9|Why it is necessary to keep V/F ratio constant | Keep the stator flux | Maintain the rotor | Maintain the speed | Maintain the rated [{b3l g1gd H V / F 3JUTd &l AR I AT TR TRIa DI AR URT | AR DI T | T Td WS D 2
in a drive? maximum current minimum | of motor constant | torque at all speeds |3Td<T® g2 HfIHan TG CRILESC] CRIESE] FATYO! §Y G
10{Which power modulator used in the electric Cyclo converters | Frequency multiplier | Phase sequence Servo controlled  [Zcilace SIgd RReH H [y UTaR ATSYcicR Bl Al dacd 3{qI U TROT 3JehH Db | Jdl [T dleeol A 2
drive system? indicator voltage stabilizer IUaNT foan Sirar %’?
11|Which type of sensing unit employed in drive Opto coupler Speed sensing Photo voltaic cell Resistance %’Eﬂ RRCH H [ g UBR D Udad Sbls BRI 3101 HUR i HagA Wicldleclad 9d | UlaIY araH= B 2
system? temperature ? feeaeR
detector
12|Which type of machine in industries is provided | Rolling machine Air Compressor | Shearing machine | Heavy duty electric ST H [ YR Dl HRIH Heel HICR salided | A dTell ARIH TR HER IR {RIHA HRI B Salldcd A 2
with multi motor electric drive? drilling machine  [$13d & 1Y UEH &I ST 82 fefeim o=ie
13|Which control system is used for Eddy current Slip controller Rectifier controller [AC voltage controller]  DC chopper TSI DRC gIgd o [Q (b [HI=0T YUITelt bl Ry Sheler AFBRR bR | TH dlees HU=AD | Sl AR =D A 2
drives? controller ITANT NSITdT %?
14|What is the purpose of JOG key in control Stop the motor Restart the motor | Inching operation Reverse the D.C $18d & MIAVIUC H JOG Poll I HT | ACY UG PRI AR DI TRRY BR[| AT R | IR DI [GRM 3¢ C 2
panel of D.C drive? direction of motor |87 g
15|What is the purpose of LCD on basic operator Indicate the fault Display the speed Monitor the Display availability |D.C 3T$d H dl-ds 3TUReR U TR LCD &1 GEBIAA PR | TMAUGRIA PR [WRTHICR D] TR | TG DT JuTd C 2
panel in D.C drive? parameter of supply il %? B T B




16|What is the reason of using shielded cable for | Easy for connection | Good appearance Protects from Eliminates the  [SIal THY TR & R Gibc Bl dlgd & | Do & o 3] fedrac qiiAd dicl 4 faqgd g¥daid Bl
connecting low level signal circuits in DC drives? mechanical injuries electrical foTe URRIEa Had BT YT B BT T HRUT T § CEIGI T Bl §
interference %?
17|Which device controls the speed of A.C motor Field supply unit |COMMS technology | Speed feedback Microprocessor  |A.C $15d H A.C HICR &I TTId Pl DM T IUPRUI | its Jwils e |COMMS URITTD] | WIS hisdd HISSHIIRIRR
in A.C drive? (FSU) box technology box based electronic | & (FSV) EIEN) Sl | smurRd o
device 82 G
18|What is the main use of A.C drive? High starting torque | Group drive motors | Control stepless [ Interlocking system [A.C $13d &1 {331 SUIN T 57 gl WClc el | JHg gIed AlcY S EIEFEUI RN EESGIEE
speed in motors in industries fed i YTt
19|What is the function of IGBT in AC drive? Smoothening Controls the power | Stabilize the output | Converts incoming [THI $1d H IGBT &1 10 1 5?2 3 dreil A.C AR DI &l T} NGCHRR Y [ 3T A.C RMfad Bl
incoming A.C supply |  delivered to the voltage from the A.C power into 3MYfdl &1 WY H1| fad o1 FEfa &FIEE%.’ dlecsi @I | D.C =i el #
motor rectifier D.C power output PRAT S B Uﬁﬂ'ﬁg Pl
20|Why the A.C drives are better suited for high High starting torque Robust in Having lighter No brushes and  [BTs WIS TR & [T A.C S3d deR FI1 5?2 | BIs Llicll cldb AT H ASgd | gooh! TSl ATsiST DI T 3R
speed operation? construction gauge winding commutation Rl 30_111%'587-[ Tl
21|What is the advantage of AC drive compared to | Requires less space | Installation and Fast response and | Power circuit and [SIRil $18d ®I g H Tl 91sd HI AT BAGI 6? | HH NG Aol | RAUAI SR IAM | did Jdlshdl 3R | TR Fidhe 3R _
DC drive? running cost is less |wide speed range of | control circuits are DA PAT | o s s | FHed dfhe WRa §
control simple i e
22|Which is the application of single quadrant Hoists Elevators Conveyors Centrifugal pumps % 32 HUgd ®lgc H RITTd Plge Als Bl JAIa BIg% TdlldeR BH-dUR 3Uhgl U
loads operating in first quadrant in drives? SR fopar Srar %’?
23|What is the function of Field Supply Unit (FSU) | Produces required | Provides variable |Provides a constant |Provides a constant [S¥Il §18d H WIts HWllk JHC (FSU) FTRT R | BRRTHGC |ACX & EAdRIST | AR DI Pl  [HICR Bl HTHR DI
in DC drive? firing current to the | voltage to the field | voltage to the field voltage to the ? f?ﬂ &W P TR el U HTQ%‘THODTW Qéb"ﬁ!ﬁﬁﬁ@ﬁ[
firing circuit winding of motor winding of motor armature of the BTN ®Re Bl HRAT g T diees] e™ U &l §
motor JAG Bl § AT §
24|What is the disadvantage of DC drive? Not suitable for high [More complex with a| More expensive Installation of DC  [ST¥IT T3d ol Jh A HIT 87 I T e & T R[fed I &fHd1 Bl HIc M\%s;ﬁ
speed operation single power than AC drive for drives is more U ITYE TET e | FURNS Y | S g wdl g F [T Sfead
conversion high capacity motor complicated 3Me® SIfed WIIBTIT% %
25|What is the purpose of LCD in Basic Operator | Indicate the status of Monitor the Indicate the display Indicate the Wagzg H SRI® HTRCR UTdl (BOP) U TeRilS! | 184 @I IRYId I Tl §1%d & TG HUGRHEIC | BOP & Tad _
Panel (BOP) in AC drive? drive parameter of AC error in reading incorrect operation [T FTE? Topd ¢ aﬂ'ﬁﬁaaﬂﬁ"ﬁl’vﬁ HUGKT HaTeH T ddbd o
drive of BOP Gy
26|Which is the correct sequence operation of key |Press ON — REV — | Press OFF —» REV |Press ON — OFF — | Press ON — REV — [JICRIF @I 1QR1 S&a & 1ad AC $15d & BOP H [T &1 — REV — | UH 3 » REV | U4 i1 — 3B — | U9 3 - REV -
button in BOP of AC drive to change the ON —» ON REV —ON OFF ->ON ol e BT TE! SIHH TR DI T 82 3 3 REV —>3{1q A s 3T
direction of rotation?
27|What is the purpose of PROG / DATA button in Tochangethe  |To store the entered | To display the data | To display the data | AC $13d & BOP H PROG / DATA §cH &I RER YT | ol [HTIT STl TRAds/ REV | 3T 3R URT &I
BOP of AC drive? parameter setting data and factory direction of rotation | status of frequency GTIT%? gea & Gﬁ?ﬁﬁ?ﬂ T @8l ST fRUfa vefRid
stored forward / REV and current S Dl ax El'c{f?f?l CC] CRCk: ﬁ'I'Q
data B > forg & forw
28|Which is proportional to the torque in D.C Back e.m.f Field current Terminal voltage Armature current |D.C HIcX H JTgUl & JHUTA] I IT 5?2 & 3.TH.UB. IS URT RRI &1 dlee o 3{THTR dHc
motor?
29|What is IGBT in VF drive? Inverter switching | D.C bus switching | Rectifier switching Field supply VF S15d H IGBT R 57 dc] AT D.C S RalT | JBRR Al [thics Iwlg Raf<
device device device switching device %ﬂ'@ fSargy
30|What is the function of VSI drives? Converts A.C to D.C | Converts A.C to A.C | Converts D.C to A.C [Converts D.C to D.C|VSI STgd &1 BRI &R 57 AC®ID.CH ik D.CHIACH D.C®HID.CH
Fxdg | uikafdd darg IXATE | URafid dRarg
31|Why the A.C drives are mostly used in process Easy to operate Robust in Very high starting | Maintenance free [l A.C ST3d SUIGIR Ulchdl TIA H IUANT b1 | T H MM EEIVEEEER] ERSEIRED WA Hod Al
plant? construction torque long life ST 82 3T Fargot Sita
32|How the base speed of D.C shunt motor can By reducing the field | By increasingthe | By increasing the By reducing the  [D.C §Tgd &1 SUTN] b D.C T HIcR Bl ThIcS BRC bl PH | BICS PC 9IDR | 3MMY[d dlccsl Dl | 3MTHIR dlecsl Bl
be increased by using D.C drive? current field current supply voltage armature voltage |3{TYR T $Y EI@'I’%GTW%? PP dglhr HH HID
33[How the constant torque can be obtained from | By reducing the field | By increasing the By reducing the By controlling the | 3{THTR 3R WIS MIHd S1%d ¥ [MAd Cld hd | Its PIC DI DY | Hits PIC dgIaX | SMHIR IRC DI | 3HAR dlecol Bl
armature and field controlled drives? current field current armature current armature voltage [WUT&l o S gwpar g2 PP HH B IBRIEGEZEE




Name of the Trade - Electrician 4™ Sem - NSQF - Module 4 - Inverter and UPS

Question OPTA OPTB OPTC OPT D Question OPT A OPTB OPTC OPTD Ans Levels
1|What is the minimum permissible single 233V 228V 216 V 211V Tle MSTHIITR o IR YINd dlecsl 240V 233V 228V 216 V 211V B 1
phase working voltage, if the declared ? Fﬁ?ﬁ?ﬂ:{ STTHA Thdl TR HTIRfTa dleest
voltage is 240V as per ISI? GCH%?
2|Which term refers that the mass of a Electrolysis Electro plating Electro copying Electro chemical |{hd Xsg I A0 § b [ 4l UG &1 goddq | Tdggd 31ducH faggd U ENESECAN] EFPRRISIBIRED D 1
substance liberated from an electrolyte by equivalent ENENIES ATH HlH ﬁ?{ﬁﬂ GIRT Had gIar SUED
one coloumb of electricity? %?
3|What is the full form of abbreviation UPS? Uniform Power Universal Power | Unregulated Power Uninterrupted  [SiT&I%d =19 UITY 1 YOI =Y T 872 G JlaR I&Ts | Ao YraRk A&Ts | A f9orell 1 | ey fagga emgid [ D 1
Supply Supply Supply Power Supply
4|Which is frequency converter? Rectifiers D.C choppers Cyclo converters D.Cto A.C 3MgId HTdc HIH I 5?2 Y D.C AR ggaal ddcy | D.CIACHAcH | C 1
converters
5|What is the full form of PWM? Pulse Wide Pulse Width Phase Wide Phase Width PWM &1 Ul 30 T 572 T d13s HISARH | U dISTs Higad | bl digs HISgARM | TRUIAISTs Higad | B 1
Modulation Modulation Modulation Modulation
6|What is the advantage of on-line UPS over Supplies constant It gives constant Works on single | Free from change |[3{Tthalls JUITH WR 3119 ATg- JUITH Dl 1 FReR Toetatl g MR 3ff3cyc | Udd aRuIATdA | Tikaa SR ¥hHU | D 2
offline UPS? power output output frequency phase or three over and transition |hTdcql %‘? I DI &Wl}ﬁ eI % IROT 31Tqﬁ WRHH | Bt RS Had
phase supply problems FRATS FAT S
7|which electronic circuit is used in a Rectifier circuit Amplifier circuit Oscillator circuit Feedback circuit [[ARaR 3MI3cYe dlcel Pl Jded PRA P 0T | UPHRR Jlbe | THTHIER Jidbe GIe didhe Biedd gicbe D 2
automatic voltage stablizer to produce Wwﬂﬁﬁmmﬁm
constant output voltage? sﬁmﬂ'ﬁaﬂmmm%’7
8|Which feedback network is used for Current divider Voltage divider | Tapped transformer Resistance e diees] T adrgory & U [y YRIfSage Acdd | dlccdl [8dlgeR | U SIIBIER Acdd | Ui argd B 2
automatic voltage stabilizer? network network network temperature BIgd® Scdd BT SUGNT fhaT ST 872
detector network
9]Which electrical device is actuating the Autostat Output transformer | Over voltage relay | Under voltage relay [SRUIS dlec ol I SdigoR H Pi- AT [dggd 3ffeRec 3T3cYC SBHR | 3R dlcedl Rd 38X dlecol kel A 2
voltages in a stepped voltage stabilizer? JUHRUT Fleesl Bl Flehd TR gl %’?
10[{What is the effect in internal resistance of a Increase Decrease Becomes zero Remain same |Uh [S&ISl Odl o AARD Tiaid H =1 YHTd 3D E] Bl 9dT & A IEd & A 2
discharged cell? %”?
11|Calculate the voltage and ampere/hour, if 6V and 24 AH 3Vand 16 AH 4.5V and 8 AH 15Vand 32 AH [dlccol 3R THIRR / U< &I AT $hY, Alg 6V 3R 24 AH 3V 3R 16 AH 4.5V 3R 8 AH 1.5V 3R 32 AH D 2
four cells rated as 1.5 v and 8 AH are in R 7 g IR I 1.5 v AR 8 AH DT
parallel? ﬁi‘c’(?ﬁ %’? .
12|Which is the application of automatic Geyser Grinder Television Pump motor IGAMIeId ¥CTS dlecs] AR bl UM TMeR PIEER cdlavid i HIcR C 2
stepped voltage stabilizer? DI %’?
13|Which is the function of an inverter? Converts A.C voltage Converts D.C Converts D.C Converts A.C  [39¢ B1 BT HIH AT 5? A.CAleca HID.C | D.CAlecs I A.C | D.CAlecol ®I 3w |ACT A DI 3A | B 2
into D.C voltage voltage into A.C voltage into higher | voltage into higher diees § gRafdd | dieew § ufkafda D.C dices H A.C diees H
voltage D.C voltage A.C voltage HIAT® HIAT® gRafdaerare | uRafdd s=are
14|What is the purpose of output transformerin | Step up input AC | Step down input AC | Step up AC from | Step down AC from [SdcR H 3T3CYC TR $I & R 5?2 | F7YC T P XY | $TYC T S XY | THAPRR 4 T4 | THAHRR H THI C 2
inverters? amplifier amplifier 3 SI3 XY 30 B LY S8 P
15|Which type of output transformer is used in Auto transformer Static transformer Ring core type Ferrite core type  [IdTAId dlecol L IATSoR H 14 UBR P 3fTcl CWhHR VD BR[| RTPRUPR BT [HRISC PRIPR BT | A 2
automatic voltage stabilizer? transformer transformer  |3T3TYC CIIBIER HT IUGNT 5T STl 872 THHIHR TG
16|Which principle the constant voltage Self induction Fall in potential Ferro-resonant Mutual induction  [[Fd dlecsl CRIBIER [6Y Rigid IR $H T PR Rigid TaHd uTd Igld | WRI-3gATd RGId| 3= WU R¥gid | C 2
transformer works? principle principle principle principle EIO_Q?IT%?
17|Which transformer is used in servo voltage | Step up transformer Step down Torodial Constant voltage |Idl dlccol TadTgoR H [hY SIBTHR BI Y 30U B | LT SIS SIBIHR CRITSTd I dlecol C 2
stabilizer? transformer autotransformer transformer I faa ST 872

x

=




18|What is the type of A.C voltage stabilizer? Servo voltage Automatic voltage Manual stepped Constant voltage |A.C Tlcedl I ddgoR B UbR R 5?2 Tal dlecl Wd diecs | A3 XS dleel d dlecol
stabilizer stabilizer voltage stabilizer |transformer stabilize @EFI‘IEGR <
§
19|Which instrument is used to check short Ammeter Voltmeter Ohmmeter Multimeter dlccol TeddrgoR H schlHoh RIETEERIE THIER dlceHICR 3MTgHICR A HIER
circuit faults in electronic circuit in voltage ‘cﬁwﬁm WWGWUT
stabilizer? 1 SUAIT {1 SiTell 82 .
20|What are the important stages in a simple Oscillator and Oscillator and Amplifier and Oscillator, amplifier [T ATYRUI 3-dcx H HdgUl IRUI T 52 aldd 3R VPRI Gld® 3R THAPRR 3R | GIAP, THAHRR
inverter? rectifier stages amplifier stages transformer output and transformer IROT TR TR E;IWB]fR fefa =Ror 3R Ejﬂqﬂﬁ?
stages output stages Sdled =Rl
21|Where square wave inverters are used? Computers TV receiver DVD players General lighting [T I 9dCR BT SWIN] gl [hAT SIIdl 57 HIR 2Idl RETaR SAlSI IR [ITHN UDIRT HaRIT
22|How the backup time of UPS can be Increase the VA Increase the AH Decrease the AH Maintain battery [JUITH BT dbH3HU THI B FGIIT oIl Fbdl &2 | JUITH DI VAT | §cx] HI TTA &HdT | §cX] DI AH &HAl | vl THAd dlecs
increased? rating of UPS capacity of battery | capacity of battery terminal voltage deld Y YcIy P g 90%} &
always 90% of Gl ERC|
rating
23[How the hard sulphation defect in secondary Provide trickle Provide freshening | Provide constant | Provide constant |Tgdid® Hd H HOR Hethe G DI Hy ADT | Tghd dTol UM B | BRI d16 JaH | T9d 4RI 37siT gd [qHd faiy
cell can be prevented? charging charge current charging potential method ST Yebell 872 Gy e &3 IR U B3
charging
24|Which part in UPS supplies continuous Battery unit Inverter unit Rectifier unit Controller unit %ﬁ;ﬂ;ﬂﬁﬁqw To¥T $-74C dlecdl Bl dc]i e gdcR giHc AFBRR e ERECIEEAE]
output voltage in case of input voltage AR 3 3cqc Fleesl HI
failure? 3MTgfef Far g2
25|What is the effect during loading of the cell, Buckling Polarization Local action Amalgamation |9 &l g B D GRIH KT YHTd Tsdl o, ECANE Peicai RN T 3HATTH
the current strength falls and become zero? oRT i AR STt § 3R X Y <reit 0
26|What is the reason for having low back up  [Fault in inverter circuit{|  Battery is short Mains earthing is | Ampere hour (A.H) [JUTTH H ®H d 3T G- BT HRUI HIT 52 AR UIbc HaQN | S aYguidde  |H T Ifad el | ] Bl THRR
time in UPS? circuited not proper capacity of battery % S{TaR (A.H) &8I
is not sufficient
27|Which is the cause for the fault if the output Battery get short | Defective feedback |Input voltage is very | Relay points are  [Jig JUITH &1 3T3cYc dlccsl A A de}l AYUiId gidl g | YUl hisdd $74c dlecyl 9gd | IRal UIsc T A1
voltage of UPS is higher than normal? circuited circuit high joined together  |3if¥/ B, Tl GIY T HRUT T &2 e 3D § IS I §
28|What is the reason for tripping the UPS with | Main supply failure | Incorrect over load | Battery charger |[Loose connection in [JUITH &l X TS & I1Y [T R BT HRUT | JBT 3MY[d [dbadl | TTad 3RS S IR 39Yc | dei ciid A elall
full load? settings input fuse blown out | battery terminal |l %? RUERRICRILI) FHARHA




Name of the Trade - Electrician 4™ Sem - NSQF - Module 5 - Power Generation and Substation

# Question OPTA OPT B OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1{Which fuel is available in plenty in India for Coal Diesel Gas oil Gasoline fSTel] TG & 1eT8 HRd H DI | S8 TR BIgdl Sl T HT dd Ucid A 1
power generation? ﬂﬁﬂﬁW%’?
2|Which is the conventional power generation? Wind power Tidal power Solar power Thermal power  [URUR® Tdoldl 3dla I AT 5?2 g Qidd IdTGA | SIRY M TG | IR Qo Sdlad | HOHIY Rod 3dlad | D 1
generation generation generation generation
3|Which material is used in solar cell? Silicon Copper Antimony Phosphorus IR Id H T Jraddl b1 ST [T Sl 672 GISEAE GIEI] A IR R A 1
4|What is the name of the atomic material used Silicon Thorium Antimony Cadmium TRHATY] 3ol TR H URATIAE S & e1g RINEIE! YTRTH AT DSIHIH B 1
for nuclear fission in nuclear power station? UG dd YIATY IR &1 T A 82
5|What is the name of the material used for Silicon Arsenic Antimony Germanium gleiaicics dd I P ToTd T Il bl RISER) 3H® ] STHTH A 1
making photovoltaic cell? FTAH B2
6[Which is the non conventional energy source? Wind Water Steam Diesel TR JRURS 3ol Fld pIH I 5?2 gal iG] T Sivd A 1
7|Which is the natural source of energy? Sun Heat Coal Biogas 3ol D1 UThidd Ald DI AT 5?2 ™ T EARK]] EII] A 1
8|Name the constituent marked as ‘X’ of the Penstock Surge tank Valve house Power house BIS Sl SAUIACd WIIC Dl ASHIGG TaRIT B SErTaY ol ¢h dled 8139 CERIEH B 1
schematic arrangement of hydro electric plant. e U 'X B AH S
9|which is a non-conventional energy source? Lignite Sun rays Stored water Pulverized coal [T TR-URUR®D Sl Hld DI AT 5?2 SPIEE ISl Dl fh0l gulgd Ul CINGEIRN] B 1
10{What is the main disadvantage of Poor efficiency No constant Can use only light | Heavy load cannot |[TR-URUR® faeTcll IdTGH &1 T Jh A R HH gl 3TRR I $Id HH YR BT | HURI YR Halerd el | A 2
non-conventional power generation? generation loads be operated 87 JUTNT R b § far S gt g
11{Which power generation requires heavy water Hydel power Diesel power Thermal power Nuclear power  [®IF ¥ RMicd TG H HRI 9 & g T B! [gT5Sd [Solcll SAIGA | Siod [dolall Sdlad | dHA Uldd IATGH | TRHATY /Midd 3G | D 2
treatment plant? generation generation generation generation Wﬁ?ﬁ%’7
12|Which device senses the wind speed in a Exciter unit Turbine controller | Chopper controller | Line controller unit [Ta- Sl SdTa] H &I Al fedIgyd gal &l d ISP Shls cdle helar IR HeleR NIESABCECATAE] B 2
wind power generation? ﬁwﬁ—cﬁ%?
13|Which turbine is used for high heads in hydro Kaplan turbine Impulse turbine Francis turbine Reaction turbine [&d B8 dIdl BI5S! Salded UIaR Wic H Iy HUAM TS 3T Calgd ThTIR CRdTg P INERIKRCIES B 2
electric power plant? LEIES KA fopar STaT 82
14|What is the function of penstocks in hydro Carries water to dam | Carries water to | Carries water away | Discharges surplus [TTisoicil T RIHI H U-RCIh DT HT1A R 572 1Y P UMl Ggardl | CqeAl ad gl | ToSTell IRE R Ul | STeRA 4 SHIER B 2
power stations? turbines from power house | water from reservoir g EREEIG ? SASIGI] LIkl ﬁg@q C2Gl
15|Which is the purpose of boiler in a steam Super heats the Heats feed water | Converts water in to | Liberates the heat |[%1H UTaR ¥R § dIgeR Bl 330 A1 87 YT Bl i T | THI 9T 3]1?%?1” Eal gHEI B HIT | S gUS YT I THI C 2
power station? steam and air steam from burnt fuel IATE 3ag gRafdd Far g E3l Had HdT 7




16/Which type of power plant is more efficient? Diesel plant Steam power Hydro electric Nuclear power  [[¥ UBR BT Tsoicll T3 31dH HRIA 572 Siole 937 T Qe EUICER] TRHTY] Rfed
17|Which material is used as control rod in a Thorium Graphite Cadmium Tungsten TRATY RUSR H A0 §8 & U H [bd UTRTH DR PpegH CTReH
nuclear reactor? mmﬁamwmﬁ?mm%?
18|Which is the non conventional power Diesel power Nuclear power Wind mill power Hydro-electric  |[TR URUR® [aolell SdTG I AT 5?2 SioTd RMad IATGA | URATY] Rfod TG | U qah] TdeIall S fdggd fad
generation? generation generation generation power generation Jdlad Jdlad
19|Which is the residue of bio-mass? Slurry Bio fuel Manure Bio gas 19 GoIH D1 AR DIH A1 5?2 I (TRT) EEELE] "l Bk
20|Which is the main constituent of biogas? Oxygen Methane Hydrogen Carbon dioxide [STIITIY &1 {3 Uch Bl Il 6?2 EICEIEE] iR HESIER CACEISIERICRIES]
21|How electricity produced in solar panel? While sunlight strikes | While sunlight While sunlight While sunlight  [TR Ud H fdoIdll &1 IdTGH &Y [bAT A 82 | S YU DI IR ST RO PIRREAT | T GRS DI IRAT [ &l JARM
glass strikes nickel plate | strikes manganese strikes on TR fPd e R R eHAr % AW
photovoltaic cell Wl?ﬂ% Wl?ﬂ%
22|What is the function of air pre heater in a Heats feed water | Supplies hot airto | Supplies hot airto | Extracts heat from [¥H Rickd G4 H TR Ul BIcR BT HII AT 5?2 YA A DI TH | SHIHMHGOR B TH [JUR B BITHTAT | W I G TH
steam power station? economiser super heater flue gases and AT a1 Pl P &frllﬁ fAepTerar 8 iR 3T
heats input air aﬂgﬁm—‘rm%
23|What is the main disadvantage of nuclear Disposal of waste |Running cost is more| Plant requires large | Installed away from [URHTY] T4 D1 HBH JHHTH R 67?2 ®HdR B [AUCH MBI HGIE |[TA DI g8 ™MDl | Al A A g
plant? space load centre IS Bl § RTfUq fopam man
24|What is the function of economiser in steam Converts water into | Heats the air by the Heats the feed Purifies the feed [H UTaR WIic H ShHIHISOR &l HIY KT 82 i dl IO TR] 1 gRT g4l bl T gRTPle XD SUAR gRI
power plant? steam flue gases water by the flue water by chemical q&aﬁaw% nﬁm% ﬁmfm% ﬁugquﬁra?r:ﬂ:gz
gases treatment Dhdl %
25|What is the advantage of non conventional More reliable More efficient Low initial cost Reduce pollution |[TR GRUR® TdeTdll ST 1 il BRIGl 872 3T WRIHG 3D <& DH URIHS ANTd EFCEIBEE]
power generation?
26|What is the function of charge controller in Controls the over | Disconnects turbine | Prevents the over | Controls the over [dcX[ STUTRT HIZsh] B3 Sd UIAR SRR H IR dlecS D] QEQTQ RARA D! | §cx] DI AR N | AT Dl R
battery based micro hydel power generation? voltage from the battery charging of battery | speed of the turbine aﬁa@w Eal wao‘rcf%? [ERIEGEZG) % [SIhHIC Dl %‘ CARIC|| s &t ﬁ%ilﬁﬁ
Hdl
27|What is the purpose of barrage in tidal power Controls the tidal Releases water | Tap the water at the | Converts potential |[SARIT TR TR H SRS Dl 389 KT 57 SR R B] TG DI R UAT | W] & YR gR W | RATcqol SHofl | et
station? waves towards the sea entrance of gulf energy into BRIECKEZGIN @Z]EHT H gt &Y fafd B Foit § ufkafda
kinetic energy m%‘cn
28|Which component in a steam power plant is Boiler Economizer Super heater Air pre heater  [%1H UTaR Wi H {69 Uch BT IUINI ‘IF%W IR SDHIHIZOR IR Blc] TR U IR
used to heat the feed water from the flue gas? T B UM B THHA S 1%111 o ST 82
29|What is the advantage of pressurized water No heat loss High thermal It has high power Metal surface  [URRIgSS dle} UG (PWR) BT T BRIGI 82 | Pls THI Bl ol SA AU el |90 3= Wdd 99 | YT bl AdB BI
reactor (PWR)? efficiency density temperature is lower g AU HA R
30|Which power generation plant is having more Hydro power plant | Diesel power plant | Nuclear power plant [ Thermal power plant|T5¥ TdeTdl SdTa A= & JaTa H iU S [dggd 997 Sid e I87 TRATY] RMied I dIg fdggd 997
reliability in operation? fa %?
31|Which is the disadvantage of non conventional | Increase pollution | Security risk is more | Requires more | Cannot be used for [URUR® ewlell SdTed UR TR URUR® Toofall UGYUl §gIU R SR YD & | 3MYP ITRI@G Dl | oY Al [SHIS B
power generation over conventional power maintenance base load demand |[3SdTGd HT IHHH T %‘? HIIRGhdl % 1%*112 Eﬁ'ﬁﬂﬁ T8
generation? ERIRSIESE
32|What is the major disadvantage of wind power | Pollution effect is Requires high Plant installation | Wind power is not [Ja- Rlidd Il T THE JHIH T 572 UG &1 SRR MG | I dbIDb Dl A RITAT SAYD | Gaq Sl (19d 3R
generation? more technology more complicated |constant and steady % HIaRYhdl % Sifed R T8t %




33|What is the function of turbine used in tidal Prevents water flow | Converts potential | Keeps the water Converts kinetic  |[SARIT QT TG H cRalgd dl bR 1 g? | S D 3= YW H RS S d1 | Il & g1d B -5 TSt Sl
power generation? to other parts of dam | energy into kinetic flow from low to energy into Ut &1 YaTe AhdT 8 TSt ot A IFA TR R I@Ag| U SHof A
energy higher level potential energy uﬁaﬁam% uﬁaﬁam%
34|What is the advantage of non-conventional More reliable Low initial cost Efficiency is high | Green house effect |[TR-URUR® Sl Wld BT HT BIIGT 572 3Hed HRIIHG HH URIHD AN FCRIEIRED JH B3 UH[E A
energy source? is avoided EEINIGH %
35|How the potential energy from water flowing is | By storing water in By using surge By using water By creating high  [TTHI ¥ &g+ aTcll [RATAS] BHoll Bl [ooTel] ST [ 31D AT H U] BT | Tl DI 76X H Fol | 3fecI-cx gled R | U] & AIHH 9
converted as kinetic energy to generate power? high quantity tanks at the water turbine to drive head through W%T%’I‘ETFI%I\_:T Foil & ®0 § HY uRafdd HERU TR I TP BT ITANT IRB a?ﬁﬂ cdIg I 88 TR
canal alternator penstocks far ST 872 BT IUTNT TRb
36|What is the effect of radio active rays produced Damages the Creates health Reduces fission Enormous heat is  [TRAT] id@lq-l ® GRIM 3dd gl ardl Xied R'\JQCQI.ET JPAH | WRA B TRITGl | [GhsT UibAI bl [ HR-IBR TTHI Ual gidl ©
during nuclear fission? reactors hazards process produced WWWWUW@W%’? HE?I'IT‘IT% W% WW%
37|What happens to solar cell, if the intensity of Output increases | Output decreases |Output remain same | No output in the cell [Tf¢ TR &I diddl HH g, dl IR Jd b1 AT 3I3cYc dedl & 33TC Uedl & | 3M3CYC del Redl & | I H dlg H3CYC
light is low? g T8t
38|What is the output voltage of a solar cell, if No output in the cell | Output voltage is No effect and Output voltage is  [A1¢ UHIRI D1 dlddl 3P g, dl IR I DI A H PIs SSCYC | 3M3CYC dicedl §g | DIk YHTA o, §HF | 3M3CYC ¥cdl &
light intensity is high? increased remain same decreased 3{13cyc dlees &1 %’? T SIGI %’ ed %




Name of the Trade - Electrician 4" Sem - NSQF - Module 6 - Transmission and Distribution

# Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1|Which electric lines connect the substation to Feeders Distributors Service lines Service mains  {TdcRUT UMl H TAdRe[ & 107U AR D1 e CGRED BIcRIGIES BIERES] A 1
distributors in distribution system? DI Ot fagygd are Sisdt 82
2|What is the insulation resistance between any Infinity More than one More than two More than three  [IE & HH] & IR A&H Jlec ol 3 Tch /T 31T I a1 9 3gd T REENIEIRE] B 1
two conductors in a medium voltage domestic Mega ohm Mega ohms Mega ohms e GEEE] gl FEINCIECIE] 3P Sﬁ'eﬂ s
installation as per IE rules? iR ‘EIHZIT%?
3|What is diversity factor (D.F)? DF = DF = DF = DF = fafaYdl $R& (D.F) R 8?2 DF = DF = DF = DF = A 1
minimum actual load | Installed load minimum installed load minimum installed load actualload
Installed load minimum actual load actual load actual load minimum actual load Installed load actual load _—
minimum installed load Installed load minimum actual load minimuninstalledoad
4|What is the voltage ratio in A.C distribution line 415 V/240 V 240 V/110 V 415 V/110 V 11 KV/415 V R, SUHTITSHT & 7T S{UTR 5 A.C 415 V/I240 V 240 V/110 V 415 V/110 V 11 KV/415 V A 1
adopted for domestic consumers? fqaRur = F e SJUTd T 872
5|What is the name of the insulator used in O.H Pin insulator Post insulator Strain insulator Shackle insulator | 3{1.TT ATgl # IUANT fbT ST dTe $gcieR ICEELRER TRE $gaie] e ELNE b d sgaiex D 1
lines? T =T T 82
@z
7 ‘
(1 0 1 4\\
=59 ?
]
TP
2z g
6|What is the name of line insulator? Pin type insulator | Disc type insulator Shackle type Suspension type [T SgcieR I AMH R 52 T TR 3R [TSTh UPR Saicx |Uhd UBR YaicR|  [Hdad JbR D 1
insulator insulator
]
7|Which is the permissble load for lighting sub 800 W 1200 W 2400 W 3000 W IE T7OHI & 3JHR R d-RIT H 3T Hibe 800 W 1200 W 2400 W 3000 W A 1
circuit in domestic wiring as per IE rules? CARSINIR] %ﬁ«m &Iﬂ'ﬁ'q ‘J-I'ITEﬁT-[ﬂT%?
8|What is the name of the insulator? Stay insulator Shackle insulator {Suspension insulator|  Single shed pin  [FJdcR &1 ATH HT &2 T sgaier b d sgaicx ERERERNER R =TS U D 1
insulator 33@8?
9|what is the reason for the conductor cross- No heat loss No skin effect No power loss No corona loss [T ®RUI &, Sl THI WW EEiiE DIs S &I Aal| Pls Ol YHTd Tal | Pis Llad &li- Tl |hls PRIAI SN Tsl| B 2
sectional area can fully utilised on transmission c R HSFR HIY-UIRAA &F BT
of DC as compared to AC? T8 RE I STANT R Thdl 82
10|Why the disc pin insulators outer surface is To withstand high | Not to attract birds To offer high Disables continuous [TS¥P TUF SYCICR STER1 AJT Pl TellolTT GRT JAdlccA P (SR ESA S [T | IAJIMEAD RMGd | IV B H FRAR D 2
made by glazing and bent the sides inward? voltage to sit on it mechanical strength | water flow in rainy &} ST T & SR f5IRI 1 SieR &1 TR | HAATHA & o | Ufard bt M | e A & fery | e vt b1 [Afspy
season ﬁﬂﬁw%’? A & forg T8t PIAT S




11|What is the type of over head line joint? Twisted joint Straight sleeve joint | Compression joint |Straight joint through [3fTdR B8 A8 ¥ DT UDR HT 57 qeIgeNvie  [Hd A BIAG| ACSRI AU [Frided & HIEH
for ACSR connectors BEESERISE] BILKIS]
§
3
12|Why steel is reinforced in ACSR conductors To minimize the line | To reduce the line To increase the Toincrease the  [3{ldRgS IS o ITU SIAHIA BIH dldd ACSR | TR AT HI HH [T dicesl 91U &l | I-IdT 91 @ 11U | URT 95 &Hdl Bl
used for over head lines? sag voltage drop tensile strength current carrying Wﬁ@ﬁﬁmﬂmmw%’> W%ﬁﬂ WG@‘@%%‘Q am%r%f%m
capacity
13[Which type of A.C transmission is universallly Two phase four wire | Two phase three | Single phase two | Three phase three [[6d UhR &l A.C THRU AdHHb U J & IR dR & ol dH dR RIA B G R | dF e diF dr
adopted? wire wire wire S{UART SITdT %’?
14|Which type of line insulator is used for Pin insulator Strain insulator Shackle insulator | Suspension insulator [@TS" JHIW TR hIH b T o [olT [hg 09 SgcieR BERERNE Yhd s ENERERNEN
terminating on corner post? %W% NIEE! WWWWW
?
15|What is the reason of keeping binding wire gap Avoid sparking Avoid corrosion Avoid oxide Avoid atmospheric dlsls*l EITCR BitED] g’ U I9H 3R 09 B IENEEE] &ROT Y o SHIAISS I ¥ | aIgHS A Gard ¥
too close and very tight in pin insulator? formation pressure WWW%’? CE] EE]
16|What is the name of conductor used on ACSR Aluminium Galvanised iron Hard drawn copper |3dReS dTg1 WX 3UAN [T S dTel ACSR SHITH SRdlpd g PSR didl
overhead lines? WWWW%?
17|What is the main purpose of crossarm used in Supporting the line Holding the Avoids short circuit | Reduces conductor idg%d U T T PISTH &1 T 35 | Als1 hedex] Dl | 3flakps Ad R [H8dex] H A | HeR & did
electric poles? conductors insulators on between conductors sag between Hg? ?I—E:'RTE:H gﬁ?{aw ?Iﬁﬁ'@aiﬂﬁﬂ?ﬂ% Hegex RAfear o
overhead line supports WW%
18|Which type of line insulator is used at the dead Pin insulator Disc insulator Stay insulator Post insulator H.T 3flaRes dlgll o SHIdH ’RT R 19 o9 SR [S%h g X YA TRE $gaie]
ends of the H.T overhead lines ? %ﬁ?% NIES WWWWW
?
19|What is the advantage of AC power Corona loss Stress on Low voltage drop in | Voltages can be  [AC TR CITHRM bl T hRIGT 57?2 PRI IPUM | THHRE ARAI R | SNHARF sl H | dlecd & ¥ 34
transmission? negligible transmission lines is | transmission lines stepped up and BRIl WW% Y S fopar S evar 8
minimum stepped down easily 3R M 'Y
13 Ty Wi
il
20|What is ACSR stands for? All Conductors Steel | Aluminium Core | Aluminium Covered Aluminium ACSR &1 Hddd T 57 JHl heaR Lid QQEHIHHH PR | TQHIH PR |TIHITIH hede
Reinforced Steel Reinforced Steel Reinforced Conductor Steel vaferd CING] T gafad I gaferd
Reinforced
21|What is the purpose of cross-arm in O.H lines? Provide more Protect from short | Reduce the sag of Holding the 3.7 ATl H hiY-3TH P I5.]T T 572 3.7, UId Dl Hedc’] & did_ | TR & dd Bl 3gdic b gu
support to the O.H | between conductors | the lines between | insulators where the GifWﬂE‘RT Uald | quyd B | Eef ot fR ﬂ‘aa $H8IeR) Bl fHeR I
pole poles conductors are PR Pl HH DY Sh Sl
fastened
22|What is the advantage of over head lines Public safety is more Faults can be No interference with | Not liable to the  |H[FTTd Sad @l JoHT H AR 88 TSI DI CIESIRES g{&ﬂ GIY S H Id] | §aR dg] & 91 [ dled XA ¥
compared to underground cable? located easily the communication hazards from 1 Baal 82 3HiH TR T Ghd & CAERRSEL T%‘I'Q
lines lightning discharges CEREIRERE
23|Which substation the transmission line voltage Mobile substation Mining substation Secondary Distribution CIITHRM TS dlecsl &l [ R IR AdTSd YR T e | ATHHD e RA | [daRu J9 R
is stepped down to consumer supply voltage? substation substation B‘qlﬁHﬂT Giqu%fEﬁ@Gr T o ST ST %”
24|What will happen to the string arrangement of  [Whole string become | No effect operates | Only the damaged | Damaged insulator [3iq fS%b srﬁﬂdi TTRA g1 ST B, I R ARIDR G | Dlg HI THIG Tol, |HId &I [S¥b | FHTIA! 34cieR
disc insulators, if one of the disc insulator gets useless normally disc will not function | and the adjacent e ﬁ?ﬁ? @1 AT HT T GRTI? ST ® NEIRASK q B T8 B ST §
damaged? insulator will not ?ﬁl’lﬁflﬁ@ﬁ% Tﬂﬁv‘-@
function




25|How the sparking on the aluminium cored Keeping binding Making binding Providing guard | Providing more than [STTS1 &1 ST¢H dTdl TegHIaH hIg aTd STE a1l YATd! 1 | STeH aTel gHIa1 Bl [hede’] o Aid S | T U 37D ded
conductors binding joints can be prevented? turns very close turns very tight wires below the one binding PHSaeR] TR W] BT B AT ST ool %”? Ur-urg Q-1 DD Gl AR B UeM HAT Ul dAT
conductors
26|What will happen to the skin effect on the O.H Becomes negligible Increases to No effect, remain Decreases half of |3ITd dSdex] W @dl @ UHTd T 1 I, TG g Sl | 3Ubdd db §¢ | Plg 3R Fgl, dol | T DI 3141 °C
maximum same the value TR HSeR P AN Bel § (<lem)? EIGIE TEd g EIGIE

conductors, if the conductor diameter is small
(<1cm)?




Name of the Trade - Electrician 4" Sem - NSQF - Module 7 - Circuit Breakers and Relays

fault on the transmission line?

DPRUTB?

# Question OPTA OPT B OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Levels
1|Which circuit breaker is installed along with wiring OCB MCB ELCB MCCB Aol e UICHRM I §1d &g IR Hiche & OCB MCB ELCB MCCB C 1
circuit against leakage current protection? 1Y DI T Ffhe FHR T ST 82
2|Which relay hold their contacts in position after Read relay Current relay Voltage relay Latching relay  [UTaR BT 3T & dlg DI 4 IRdl 3O HUD] B s Rt HYRT el dlecol kel AT R D 1
power is cutoff? fufa & w@a %’?
3|what is the name of circuit breaker? Oil circuit breaker Air blast circuit Vacuum circuit Air break circuit  [Iihc ShR DI ATH H1 82 qdd gihe bR | TR sARC Gibe | Tdid Flde g | TR dh didbe B 1
breaker breaker breaker EC ECa
i
4[How the rupturing capacity of circuit breaker is KV KW MVA KVAR Jlhe AP Pl ge Dl &Hd DI Hcdlh by (bl KV KW MVA KVAR C 1
rated? Gl'l?‘lT%?
5|What is the pick-up voltage in a over voltage relay | Working voltage of | Maximum voltage | Minimum voltage | Minimum voltage to [Hehldd 3i1aR dlecdl IRal H [Udh-3(U dlcc sl R 572 R o1 FESRI | RA @] sfigban | R ot RATE DA D D 2
indicated? relay rating of relay rating of relay start the relay dee dieed T dlecol ﬁ‘lﬁwd ool
6|What is the function of Buchholz relay in power Over load and short | Over voltage and Open circuit and Open circuit and  [TSoTell CRITTHR H gledl R 1 BT T 52 SR TS 3R | dlecol AR YAl | M0 Fidbe AR | 3T Hihe 3R A 2
transformer? circuit protection | earth fault protection | earth fault protection over voltage 1 Gfche TR&fuT LK gRE&m E[ﬁajf Y TR IR dlees
protection e
7|Which type of load is protected by ‘G’ series MCB? Ovens Geysers Air conditioners General lighting [T YR ST dlS’ G ' Ul MCB gRT IRI&d 3flaq ToR TR HOIRR H UhTR C 2
systems ? 2R3
8|Which type of relay is used in both A.C and D.C Reed relay Impulse relay Thermal relay Clapper-type A.C 3R D.C Gl H T8 PR & Rl Bl Js e 3T Rl YU R FIIR-UBPR B 2
supply? armature relay I a1 ST 82 TR R
9|Which circuit breaker is used as a switch and Air circuit breaker Miniature circuit Moulded case Earth Leakage ‘a’%qdlqwl Jiche H g9 3R JPRETHAD UV &b | TR Flde §p | MHTR Hidbe | AIGGS &Y Flove | Y dlhol Hidbe B 2
protective device in the domestic wiring circuit? breaker circuit breaker circuit breaker ihe SHR BT IUNT fHaT ST %"7 ECa ECE ECa
10|What is the purpose of trip coil used in circuit Easy operation Remote operation | Accurate operation Emergency Flche AH] H ST Dl S dTall [T pisd Pl M SHBN | RARC TIRIH Tlid AR S{TATADTT B 2
breakers? operation B%Qtl Eal %’P SR
11{What is the function of relay to the breaking Sensing the fault Analyzing the Controlling the  [Interpreting the fault |01 Hide H Hide SidHR & ST SO T RA | Y AT B UW | SP DI U BT | Tl b THI H - [ SR Yalierd o | D 2
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